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The figures in the margin indicate
Sull 'marks for the questions.

Answer either in English or in Assamese.

1. Answer as directed 1x10=10
o™ o ey fuw

(@) “There is no relationship between
manpower planning and professional

planning.” (State True or False)
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()  Pension Scheme

e raisal system can :

(b) “Performance app i | i
always be free from personal bias. | SR

(State True or False) (i) Employee Security

DI AR TURT e g Afes® ‘ TN Faiser
Eelfow =8l I& = AR |

(iv) Compensation

(% @ ge5 &[A0) ' Al : :
. (Choose the correct answer)
(¢ Human Resource is an important 5 (&% v 1z lers3)
of an organisation. . _ -
— (Fill in the blank) ' () Which of the following is g hindrance
! J l to effective training ?
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(Fill in the blank)

(11) Aggregate Spending on training is
. Inadequate

R 3fte Tt 9|
I A

(3IeT] 212 99 F0) AT @oie STorie) 35 <
. _ (i) Mentorin
(¢) Which one of the follewing is not a | SRR :
: fit P | ' ‘
filvee penen : ! | (iv) Career counselling
A CIMOT effeo w17t s TGN Sl

(i) Health and Safety (Choose the correct answer)
i . (&7 C&7or AR Shyaay)
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() Lack of suitable olicy
- 1 1 ot a $
(g9 Which one of the following is 0

TR Tifeq Srerg
. n Resource ‘ .
function. of Ij;lma - | (@) Supply of information to investors:
Management ’ [ e
57 GEFTH! SR 1 <RI <o <P 2 ? }. RIS ©2 Qs
: (itv) None of the above
) Planning ‘
o 5 | | S5 Ble 7y
| (Choose the correct answer)
(i) Staffing | : (8% ety Az @7%\9%7)

it Frafesd

(ii1) Preparation of budget

() = Which of the following is electronic
training mediym ?

AqCEH AEOFE . FIRTARS <R et e e 2
(iv) Weather forecasting | (i)  Audio-visua] medium
Zead SoTGe] AT i TN i
the correc b,
(Choos(e@%?_ N ) | (i) Computer-centric medium
FAChIT- e g
(h) Which of the following is not a limitation | (iit) Video con ferencing

ing ?
of Human Resource Accounting :

fefee st
2 (2oloeaeR TRREe! .
o (I : (w) All of the above
o S SRR
o i ' : Choose the correct answer)
; osition of trade union { L :
JPEP s | - (%% Sewrh 31k heqy)
=S FEE [Reaina |
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() Which of the following is in correct

ordersp s
FEfRe @G AT T =2
(i) Job analysis, recruitment,
induction, selection, placement
= R, e, SR, A=, BT
eI
(i) Recruitment, selection, placement,
induction, job analysis
ST, TR, ES GG, e,
e

(iii) Job analysis, recruitment,
selection, placement, induction

3 Rsad, Seee, A, Bie GITOIGH,
G

(iv) All of the above
@[ SIbIRAE

(Choose the correct answer)

(o7 Cewrs i G
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2. Write very short answer :

oo 53¢ Oed ¢

2x5=10

(@) Write two differences between Human
Resource Management and Human

Resource Development.

SR A7 SARBITHI ST Mg 7517 B Siers
Bl 707 AL fori|

(b) What is placement ?

Ao e e -

(c) State two importances of work-life
balance.

Wﬁﬂﬂa@mﬁﬁf@w@@z}w|

(d) Mention two objectives of transfer

RN 757 ey Sz < |

(e) What is downsizing ?

S ALIOT Se 59
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Answer any four of the following :

5x4=20

wﬁzmwﬁﬁa@‘mﬁmz

- (@) Describe in brief the role of a human

(b)

()

(d)

(e)

résource manager.
IS 17 AR wfie BT el <5 |

Distinguish between recruitment and
selection.

FTT S AR ere sy (Tt |

What are the requirements of g good
wage plan ?

£516W1W@§T@mﬁkiaamaﬁm@mﬁmi%?

Explain the relationship between the
employer and employee,

WWWWST%WM@QHWI

State the import

| ance of ethics in
human resource :

Management.,

mermmﬁw@@ﬂﬁ‘
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(f) Write in brief any two methods of
. performance appraisal.

ol R R 701 “’f‘ﬁ%ﬁ?ﬁsm'

4. Answer any four of the following :
~ 10x4=40

wore I =[ Reen o6 Tes il

(i) Explain the meaning and irnportance
of training. Distinguish between
training and executive development.

e o Ol w9 Il T4 | e i
TR R Aers 2NiLRy R |

(i) Why is it necessary to maintain
industrial health ? What measure do
you suggest to improve the mental and
physical health of employees in a
private sector organisation ?

S+5=10
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(iti)

E ; :
xplain the Steps involved in human
Tésource planning | 7

S 507 s
9 &feFimE <gt 3 |

(vii) Describe the essentials of a good

incentive plan. Why should it consist
of both monetary and non-monetary

incentives ? Discuss.

(0B e S e e 51 O Gl Sl AR CAMIAYE <1
s fUltment ? Explain the 41| @5l TS Rel 9iF SN-Fe oeq
s of I€Cruitment, Bail(E) ol B Aol e ? S < |

(v)

(vi)

TP JfeicE :

Sl

(viti) Discuss the problems of performance

appraisal. How can performance
appraisal be made more effective ?
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AR e
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